.2. Klapptest — Bruch - Addition 2

Falte das Blatt entlang der Linie und schreibe die Ergebnisse
anschlieBend auf die Linien.

1 13 Hauptnenner: 22
1) —  + — = — 4+ = —
7 63 63
1 1 Hauptnenner: 6
2) — + — = — + = —
5 25 25
5 8 Hauptnenner: 31
3) _—  + — = — 4+ = —_—
42 63 126
2 14 Hauptnenner: 44
4)  — o+ — = —— % = —
3 45 45
13 2 Hauptnenner: 229
5) —_ + — = — 4+ = —_—
56 9 504
1 13 Hauptnenner: 3
6) —_  + — = — 4 = —
7 56 8
3 5 Hauptnenner: 58
7) _  + — = — 4 = —_—
14 54 189
11 7 Hauptnenner: 16

8) — + — =—>~ =
18 6 9
1 1 Hauptnenner: 7

9) —  + — = — 4 =
8 6 24
3 1 Hauptnenner: 5
10) _—  + — = — 4 = —
14 7 14

Ergebnis:

__J20P.
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